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SN BA(SA) - MRAY - BES 0l &t o il HImEET
Al 3,716,000
LoEXAYE &5 3,597,000 519,000 3,078,000
< 15,000
Al 3,582,000
401 Al HIZ 201 I 60,000 0 60,000
01 A& HI 60,000 0 60,000
OZHAI- I EE=ERNZ SLAANE DHSA 30,000
oAl SE =2 FZ2AE HtE B2
A 30,000
402 RIZ2EXt20l ™ 493,000 519,000 A 26,000
< 15,000
Al 478,000
01 It =2 At B X 493,000 519,000 A 26,000
OZzg = 200,000
OZ2Y HE= 270,000
OR=d2AE Jls2Z 1,000,000& * 8 8,000
O22A= HZ24 SSHEIE MHE=HI 15,000
< 15,000
403 MtXISHHE =0l & 3,044,000 0 3,044,000
02 S 2SO CHE A 2 X CHE At H 3,044,000 0 3,044,000
OFgposg=sla 28 2,000,000
OZol=22zd setd Ad 1,044,000
ZAAE 29 134,000 0 134,000
401 Al HI K 201 I 134,000 0 134,000
01 A& HI 134,000 0 134,000
OZHF=2AZH &2 HUHLHM ALY
67,000,000& * 2CH 134,000
LO=EXAE 2l 7,501,905 8,023,224 A521,319
= 255,008
< 1,262,436
Al 5,984,461
d2Y 29 & 2,305,974 2,360,870 A 54,896
= 255,008
< 450,818
Al 1,600, 148
201 Let24d] 24,300 24,300 0
02 =24l 24,300 24,300 0
OZdzg otdzad 45,0003 * 54001 & 24,300
307 glz2tol & 2,258,274 2,313,170 A 54,896
= 255,008
< 450,818
Al 1,552,448
10 AL SXAIEEE 2 HEX 2,258,274 2,313,170 A 54,896




2N AlBIZX
HY: Lo=xEd

Lo=Ex

=

el

SA-3H-S(3AH) - MRAS - BES Off &t 24

=

M
2Hm
==
£l
Ol
0y

OZ2g 2gH N 1,224,960
= 46,991
Al 1,177,969
O3dzg gl XA 804,864
198,375
320,400
286,089
OZ2g dgd N 54,500
13,225
21,160
20,115
Oz3dzg &=Hl XA 173,950
43,408
62,267
68,275

=z N W = H W

= W

| & 23,400 23,400 0

0
01 2Tt =AIEE X 23,400 23,400 0

OZzdg dazd ENESI 23 23,400

I2AE 22 A& 689,200 689,200 0

10,764
678,436

= H

307 21201 A 689,200 689,200 0

10,764
678,436

= H

A S XAIE E = 689,200 689,200 0

OfR=d=z2Ad 2498 XN& 689,200
10,764
Al 678,436

H

Lo HINRE=0 N 3,637,231 3,946,970 A 309,739

498,599
Al 3,138,632

H

403 TtXI M S A =01A 3,637,231 3,946,970 A 309,739

498,599
, 138,632

= M

3
CH &t AF & I 3,637,231 3,946,970 A 309,739

3,637,231
= 1,926,799
327,556
Al 1,599,243
-l E 1,710,432
171,043
Al 1,539,389

tn

H

H
re
fo
09
Z
nx
on
il
to
bl
]
=)
=
o

401,500 526,184 N 124,684

68,255
Al 333,245

in

301 €EtE 4= 401,500 526,184 N 124,684




2N
X ZH -
L= B

el

HoH >
e oo
T
A
>

nx rA

22|

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 68,255
Al 333,245
01 MEI2BZE+06l= 401,500 526,184 N 124,684
OLRAANE SS2AX iz XE 401,500
< 68,255
Al 333,245
SA=STAE SMI X 468,000 500,000 A 32,000
= 234,000
Al 234,000
307 21201 A 468,000 500,000 A 32,000
< 234,000
Al 234,000
11T MISXASEEX 468,000 500,000 A 32,000
OLQ=SXAIE BAX =2 (M2 Ho) 468,000
= 234,000
Al 234,000
Lo =X 548 73,294,094 65,888,767 7,405,327
= 50,713,849
< 4,364,793
Al 18,215,452
LOoI=EX 2435t 304,270 304,070 200
< 17,892
Al 286,378
201 £B-2%| 8,570 10,570 A 2,000
01 At 22l 8,570 10,570 A 2,000
OFRg 299 solas =g
0,000& = 7 * 33 1,470
OANZEUAE 2 =24 3,000
Ok2Ae2sSKd S ANHEZFH EE2= ME 2,000
OLQABAG 223 AXE
300,000& = 7CH 2,100
203 ¥ S =&l 10,000 10,000 0
03 AIHF=AH 2 =AH| 10,000 10,000 0
OLe=R A=A HRFAH| 10,000
301 et d s 256,600 256,200 400
< 12,942
Al 243,658
01 MEIBEZ X +05l= 199,600 199,200 400
O2s)Hk 58 F2H &
60,0002 = 3,000 * 13 180,000
< 12,942
Al 167,058
Okl A2 A X 4,800
C4Mll &Y XA
30,000& = 30 = 12& 10,800




AN ARSI 0
Mo LoI=XEX
ool Lo=X B (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OEs0HZY OtX2Z SHAY 4,000
09 &AL HIZB A S 57,000 57,000 0
OS0is ARTI A
3,000,000 * 190 A 57,000
307 21201 A 29,100 27,300 1,800
< 4,950
Al 24,150
11T MISRASEX 29,100 27,300 1,800
OLoHEFH = 8,000
< 3,200
Al 4,800
OLel Wit E ZHed At 1,150,000& = 10& 11,500
< 1,150
Al 10,350
OsnYwe HEMNLEY 29
200,000 * 120w 2,400
< 600
Al 1,800
O22As 028 SsEINE X
300,000& * 204 « 12& 7,200
Jxzos XA 72,448,356 65,021,569 7,426,787
= 50,713,849
= 4,346,901
Al 17,387,606
301 et a = 72,448,356 65,021,569 7,426,787
= 50,713,849
< 4,346,901
Al 17,387,606
01 MEIBEE 2053 72,448,356 65,021,569 7,426,787
OJI=a K& 72,448,356
= 50,713,849
< 4,346,901
Al 17,387,606
COIAlE, X K& 541,468 563,128 A 21,660
307 21201 A 541,468 563, 128 A 21,660
03 QIZtHNHE2HHEX 113,200 111,528 1,672
ougt=els ZalAlXla 2FHl 43,472
Otgt-2lsl ZalAIXz s8Hs 23 22l 32,264
OXNGSARNEH SAES ¢ 27,600
O Xa AHE(ME) 2 3,064
OHM63 Loldet2e=Z 3 2,800
OH26sl =CIAHOIEZ U3l 4,000
04 QIZFHALAIH B = 14,000 14,000 0
OHM20a oo & 2 H=Z29 & A 14,000
05 RIZHRIE 3 10,000 10,000 0
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X{ XH -
S =

Off &t 24
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|
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re
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e re

o o

Jor A
to

™o 2
o
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e o0g
1o
ton
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=
0z
N
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ol
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i
10
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z
1%

Ao
02
==

0z
02
1o
= ox
ol
il
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M
rr
0%
Mo
0z
o
=
1

10,000
404,268
87,000
160, 160
86,608
36,608
50,000
35,000
27,500

8,000

424,200

A19,932

H
re

0z
=
2
0z
Pl
o

= M W

6,316,681
2,397,246

804,955
3,114,480

6,027,604

289,077

S ESE0I8IRMH A

= M W

1,056,019
739,214
95,042
221,763

1,109,895

A 53,876

307 21201 &

= M W

539,899
377,930

48,591
113,378

617,612

ANTT,713

A S XA E X

=z N H

539,899

539,899
377,930

48,591
113,378

617,612

ANTT,713

403 TtXI M S A =01A

= W

516,120
361,284

46,451
108,385

492,283

23,837

O kelss SIIJtAF AblA

= W

=z N H

516,120

495,246
346,672
44,572
104,002
20,874
14,612
1,879
4,383

492,283

23,837

H

°

r

2 Xtel

I
O

= N H

3,573,630
1,617,640

484,152
1,471,838

3,428,098

145,532

H

864,000
432,000

910,000

A46,000
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0x
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0l &t o

=

M
2Hm
==
£l
Ol
0y

< 129,600
Al 302,400

04 DIt 22 XS+ 864,000 910,000 A46,000
OAIRE oA 2SN A2 864,000
432,000

129,600
302,400

= N W

201 L Er2A | 3,000 4,850 21,850
1,500

450
1,050

= N W

03 A2 EHI 3,000 4,850 A~ 1,850

3,000

1,500
450
1,050

O
H
e
>
ton
ok
o
p|
o
>
it
g
o
>
e
EJ
Ho

= M W

206 M= Hl 3,000 6,600 A 3,600
1,500

450
1,050

= MW

01 M= dl 3,000 6,600 A 3,600
OLQ A S XA HHEH 2 3,000
1,500

450
1,050

= W

307 glztol & 2,703,630 2,506,648 196,982
1,182,640

353,652
1,167,338

=z N H

, 703,630 2,506,648 196,982

,533,330
, 103,990

330,052
,099,288

O
e
o
0
Jn
H
e
>
ton
o
Ot
pal
{0
>
©Q
— N N

= MW

19+« 113 157,300
78,650
23,600
55,050
13,000

= MW

RO
02
1>
bl
08!
o
o
o
0
HI
]
>
9

g2s N3 403,800 379,800 24,000

= 38,700
Al 365,100

301 LEE A= 4,800 4,800 0

1,200
Al 3,600

H

01 MBI 2 H 03 4,800 4,800 0




S A2EX
2 Lo=XEX
Gl ol MAoty X (2 &HH)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
ORAFUX FHY W=
80,0008 * 10% » 6% 4,800
< 1,200
Al 3,600
307 2Iz2to| & 399,000 375,000 24,000
= 37,500
Al 361,500
10 M SXAANEEHESIGHEX 399,000 375,000 24,000
ORI HE NAME 29 150,000
= 37,500
Al 112,500
OAMUZEE 29 249,000
LOIEESE XD XA 14,100 12,000 2,100
= 4,230
Al 9,870
301 LBt A= 14,100 12,000 2,100
= 4,230
Al 9,870
01 AISIE & A 452 14,100 12,000 2,100
OokoletsEx)| AHA 150,000 * 94X 14,100
= 4,230
Al 9,870
ENLQ0RZEWHE ALY 146,000 100,580 45,420
& 58,400
Al 87,600
301 LEtE A= 146,000 100,580 45,420
& 58,400
Al 87,600
01 Al E & A 462 146,000 100,580 45,420
EHLO OFRZE HIZAIY 146,000
= 58,400
Al 87,600
F2UHES L SAE IHA 1,042,348 950,750 91,598
= 104,235
Al 938,113
307 212+0| & 1,042,348 950,750 91,598
& 104,235
Al 938,113
11 Al EXAIEEX 1,042,348 950,750 91,598
OFUABSAE 29 82,348
& 8,235
Al 74,113
OMIEXE AMUIAAY
160,000,000& » 6IH A 960,000
& 96,000
Al 864,000




AN ARSI 0
HY: Lo=xEd
Sl Lol MY X (B9 ®R)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
SHke 2208 S201 AHY 80,784 46,481 34,303
= 40,392
< 20,196
Al 20,196
307 gl2tol & 64,944 30,643 34,301
= 32,472
< 16,236
Al 16,236
11T AISI S XA E = 64,944 30,643 34,301
OSHLe - Zofel S=Setd S20IAY 29 64,944
= 32,472
< 16,236
Al 16,236
401 Al Bl 28I 15,840 15,838 2
= 7,920
< 3,960
Al 3,960
01 A& HI 15,840 15,838 2
O=HEe 82d SLE0IALY AAE 2= 15,840
= 7,920
< 3,960
Al 3,960
AHASAE 2el 302,668 291,128 11,540
= 35,985
< 13,777
Al 252,906
THEASAMEH 22 60,000 60,000 0
A SAEH K& 60,000 60,000 0
307 21201 A 60,000 60,000 0
04 QIZFHALAIH B = 15,000 15,000 0
OXZSAL St0tSCHEl & At 15,000
11T AISI S XA E = 45,000 45,000 0
OMItE AL X & 30,000& * 1259 = 12& 45,000
N SAHHE 2435t 242,668 231,128 11,540
= 35,985
< 13,777
Al 192,906
ANASAHEEH 2el 89,720 82,880 6,840
< 3,600
Al 86,120
201 et 69,320 67,380 1,940
< 3,600
Al 65,720
01 At 221l 52,280 49,980 2,300
OXNESAHH JI2AMRES 10,800




S A2EX
M NI SAF 22l
R XNEANHEH 2435 (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
OXESADSE 2 AHH| 200,000& * 403 8,000
OXNESAIHEH 2H/AJ S
70,000 * 19Y « 23| 2,660
OHHARA 5 <L 0222 X 24|
7,000& « 7 * 100g 4,900
OXSSAHEH XX
700,000& * 2CH ~ 12€& 16,800
OstM S AFS ) (BHsH) =& X2 Xt
600,000 = 23| 1,200
OXN22SAHH 822 HZ
1,000 = 4,000 4,000
OXNISAIA JDisn=s WM ME
2,000& * 1,000 2,000
OHSTMASNL2SY 422 2
80,000& 15X 1,200
OXNESAIAE A ZUZ2RUAD] A3
60,000& = 12&€ 720
02 B232%H| 5,040 5,400 A 360
ON=ZX2EAHAEH A3 Y| 720
OXEEANEEH Y SF4I 4,320
03 A2 H| 12,000 12,000 0
OXSSAHEEH A 2 12,000
== 3,600
Al 8,400
202 04| 10,800 10,800 0
01 2Ll 10,800 10,800 0
OXNEESAMEH 2 S&ES 0]
180,000& * 5¥ = 12& 10,800
301 et A= 9,600 4,700 4,900
11 JIEtE A2 9,600 4,700 4,900
OXNKAZSAEEH SAN 2R2EAZ (2, 2R)
9,6008 * 4% * 250 9,600
ANSEAXT D= 14,850 12,930 1,920
201 et | 3,600 0 3,600
03 A2 | 3,600 0 3,600
OXSSAF HEHEH A4S A
60,000 = 50 = 13| 3,000
OX&SALAF A= FOHY| 600
202 o4 H| 1,600 1,400 200
01 2L I 1,600 1,400 200
OXNEESAIE 28I 800,000 = 2 1,600
301 et A= 9,650 11,530 A 1,880
09 HAIAHI BEAZ 9,650 11,530 A 1,880




A A=Y
g NESAE 2l
t

=

CHe: XIS ALHE M35 (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
OF=d o9 VASAN D=SEI 243
25,000€ = 50 1,250
OHQRZEANK &5 & 3o HFAX 24
7,000& * 85Y = 43| 2,380
OBt M S AT ALy
7,000& * 241 x 80Y 1,120
OXNIZEANX A2 EHAX SAH|
7,000& * 100 700
OStMEAE SAIE2 S AlH|
7,0008 * 150 * 23| 2,100
OXNEESAHE F2NEUAI ESE423
7,000& * 10 = 103/ 700
OXNEEAMEH 2 N &I S84
200,000 = 7H4 1,400
NASAMEEZ NSIALE 30,752 29,964 788
= 15,376
= 4,613
Al 10,763
307 2Iz2t0| & 30,752 29,964 788
= 15,376
o= 4,613
Al 10,763
06 22 30,752 29,964 788
OXNHEAMK AHEE I H| 30,752
= 15,376
& 4,613
Al 10,763
ANSSA 243 ALY 45,000 44,380 620
307 2iz2to| A 45,000 44,380 620
02 QIZ2FA AAIE E X 25,000 19,380 5,620
OXNIEANLHES AIEH K& 25,000
04 SIZ2ISHAFAISHE E X 20,000 25,000 A5,000
OXNESAUSEH &EAHl A& 20,000
NSAZ2CUHOE X3AH 62,346 60,974 1,372
= 20,609
& 5,564
Al 36,173
101 Q124 H| 58,026 56,654 1,372
= 20,609
& 5,564
Al 31,853
04 JI2ZtHIZ22NEE S 58,026 56,654 1,372
OXE=2AF ZLYIOIE o1AHd| 41,321
= 20,609
o=} 5,564
Al 15,148




S A2EX
M NI SAF 22l
ool URZAME 243 CER-ED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
OXNIEA RCOIUIOIE AMZ2Ax=E 4,705
-, 84& ACIHIOE
9,801& = 28 = 20Al2t ~ 12& 4,705
OXEA ZLUHOIE 4282 (BE2) 6,000
OXNEE2A 2OHOIE E&Z
3,000,000& = 2H 6,000
202 04| 4,320 4,320 0
01 2L I 4,320 4,320 0
OXE2AI 20HI0IE 2 sZEs |
180,0008 = 2% * 12& 4,320
MEIAHAA MHH 25 1,097,110 887,381 209,729
= 581,180
o= 72,750
Al 443,180
slat=x A 1,097,110 887,381 209,729
= 581,180
o= 72,750
Al 443,180
PAR=2=-\ 600,000 445,028 154,972
= 480,000
= 60,000
Al 60,000
301 et A= 600,000 445,028 154,972
= 480,000
=} 60,000
Al 60,000
01 M3 EXEE 2562 600,000 445,028 154,972
Oo2a=2X XA 600,000
= 480,000
& 60,000
Al 60,000
I MHFRS 140,000 138,000 2,000
301 LBt A= 140,000 138,000 2,000
01 AISIE & A 452 140,000 138,000 2,000
O S0S MAPRSHI XA 140,000
2Z2=sXNEEHA KA 22,000 21,600 400
= 11,000
Al 11,000
201 LBt Y| 5,600 6,700 A 1,100
= 2,800
Al 2,800
01 AP 22| d| 5,600 6,200 A 600
OsgAd 22 29 5,600
= 2,800
Al 2,800




2N
X ZH -
L= B

el

Alel =X ot
MEIASAA MH 2=
=X XA

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
301 et d = 16,400 13,150 3,250
= 8,200
Al 8,200
01 MEI2EZE 45z 15,400 12,350 3,050
OAtell2el At dl 15,400
2 7,700
Al 7,700
09 &AL HI B &S 1,000 800 200
OAtell 22l At AN L 32 & A B4 1,000
= 500
Al 500
SHESAtd 22 K& 24,000 0 24,000
2 16,800
Al 7,200
201 ¢er24l 2,400 0 2,400
= 1,680
Al 720
01 At 22/l 2,400 0 2,400
OSHsAtdl 22l 24| 2,400
= 1,680
Al 720
301 LerEd = 21,600 0 21,600
= 15,120
Al 6,480
01 MEIBEE 263 21,600 0 21,600
OS8sAtdl&el XI&tl 21,600
= 15,120
Al 6,480
ZFCEON 29 69,650 67,650 2,000
307 21201 A 69,650 67,650 2,000
11 AR S XA E =X 69,650 67,650 2,000
O ZED2 29dl XN& 69,650
SE At 2t el Al KNI 146,760 143,898 2,862
2 73,380
Al 73,380
101 14 Hl 146,760 143,898 2,862
2 73,380
Al 73,380
04 JIZHHZ22XREE S 146,760 143,898 2,862
OS At Z2tel AL el24 ] 146,760
= 73,380
Al 73,380
ANEASIEZEAN 28 XA 81,200 71,205 9,995
= 6,000
Al 75,200
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el
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CABIAGEH MA 2E
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SN FH-SA(EN) - MBAY - BES

Off &t 24
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10,500

10,500

,000& *

253 * 63

10,500

10,500

10,500

307 21201 &

H

Al

70,700

6,000
64,700

60,705

9,995

11 A2l S XA
OX<SALEl
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SHEAH

H

Al

70,700
70,700

6,000
64,700

60,705

9,995
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g S SEeFFEAMS

H

Al

13,500

6,750
6,750

13,500

201 &
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A
02
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H

Al

2,100

1,050
1,050

2,100

01 A

=

O

oY 40

or
o

[on

L EE P FA

1%

t

Al

2,100
2,100

1,050
1,050

2,100

301 LEE A F

f

Al

11,400

5,700
5,700

11,400

09

AL
OsoE 3y

Etel#=AtE 22t

THo

=}

= H

11,400
11,400

5,700
5,700

11,400

= MW

,420,067
, 368,988
,035,434
,015,645

26,409, 160

3,010,907

= W

770,216
375,108
187,554
207,554

272,484

497,732

= W

574,608
277,304
138,652
168,652

574,608

= N H

574,608
277,304
138,652
168,652

574,608

01 2I2HXHZ At
0

574,608
20,000

574,608




AN ARSI

g Foje sxsd

e HUSXAYE &= (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
OHMIOt DIs22ZAY (=) 554,608
= 277,304
= 138,652
Al 138,652
ZOHRAHFAILE DIsEY 195,608 0 195,608
= 97,804
& 48,902
Al 48,902
402 SI2F 20| ™ 195,608 0 195,608
= 97,804
& 48,902
Al 48,902
01 A XSAIEE =X 195,608 0 195,608
O JsEBAAMNY(ALAILE AXZ2AH 18,300
= 9,150
= 4,575
Al 4,575
OZEE JsEBLAL(S4E=Z A} 36,500
= 18,250
& 9,125
Al 9,125
QetilSste JIsE2E2ZAIE (HEAIE JHAZAN 140,808
= 70,404
&< 35,202
Al 35,202
el sSXNSE 11,155,448 9,875,172 1,280,276
= 5,377,916
= 1,079,773
Al 4,697,759
ool 2XsE 28,100 28,680 A 580
201 et 9| 26,100 25,680 420
01 A2t 2| H| 26,100 25,680 420
OXMHASKIAIY 2I=EH HE
1,000& = 2,5000H 2,500
OXOMRXIS X AEIH M
1,000& = 4,0000H 4,000
OALZOQALNS 23
16,000 = 170 x 4& 7| 10,880
OXOMNSHH AKX I AdXE
500,000 = ACH 2,000
OHMC &K &35 JoyatMe =& 6,720
301 LBt A= 2,000 3,000 A 1,000
01 Al E & A 462 1,000 2,000 A 1,000
O=Zs&Me 8sEHN A22FH XS
200,000 = 5 1,000
09 HAIAHI EAZ 1,000 1,000 0




SA: A= D
My ool 2N
Sl Zofel 2XEH CER-ED

SA-3H-S(3AH) - MRAS - BES Off &t 24

=

M
2Hm
==
£l
Ol
0y

10,000& » 100€ 1,000

o sXE 7,640,880 6,566,400 1,074,480
5,348,616
687,679
,604,585

= W

.

403 A X HHSXH=0lA 7,640,880 6,566,400 1,074,480
5,348,616

687,679
1,604,585

= W

,640,880 6,566,400 1,074,480
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